H=1000 (#51% + ) H=1250 (¥t + ) H=1500 (¥t + ) H=1750 (#:1% £ A) H=2000 (#: 1% £ F)

300 11300 16300 1300
. 1 ]

100

100 1220 100 = g 28
100 100 - =8
100 1420 JLOO = g 28 = |
100 1o 100 1480 ‘ ‘ ‘wuu “g D [000)
0 100 100 1650 i)
o 100
H=2250 (¥t + ) H=2500 (¥t + ) H=2750 (#5141 ) H=3000 (#5 1%+ FA)
300 1300 300 300
il o
o I
gi ] W
gl 0 000} g8 i |
100] 1800 L[ [roo g [0 [000) 23
o 100 mu‘ ‘ ‘ 1950 ‘ ‘ ‘mu g 0] g8
100 100 100‘ ‘ 2120 ‘ ‘IOO - § D
100 1o wc‘ ‘ 2280 ‘ ‘ “””
00 100
H=3500 (¥4 + ) H=4000 (¥51£ L+ F)
300 300
‘“0‘ ‘ ‘ 2600 ‘ ‘ ‘woc <8 ‘
100 100 =g
mu‘ ‘ ‘ 2000 ‘ ‘ ‘wc
100 100
F—EH 1y IHER H-1000~4000 (%514 + )

“rAHE SRE

2009.8.23




